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1. (30) Rita skal eina jofnu sem nzegir til ad finna 4,. Finna skal ;.

Write one equation that is sufficent to find 7;. Find ;.
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2. (35) Finnid Thévenin jafngildisrasina milli polanna a og b.

Find the Thévenin equivalent circuit between the terminals a and b.
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3. (35) Finna jafngildisvionamid milli pélanna b og c¢. Gerid rad fyrir ad adgerdarmag-

narinn sé fullkominn. Syna ttreikninga.

Find the equivalent resistance between the terminals b and c. Assume an ideal

operational amplifier. Show calculations.
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